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Unit 4A Square Root Function HONORS MATH 2
UIZ/TEST REVIEW
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Write each expression in exponential form.
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7) Find the domam and range o each function.
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10) Given the table of the parent function, write the equation of the transformed function from the table on the
right (decimals rounded to nearest hundredth). A blank graph is provided for you if you want it.
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Parent Function:y = vx Transformed Function:
X y X y ;ﬂl"‘ g .
\xeﬁtcallﬂ Lob =
0 0 0 3 Sﬂe&d\gc\ LLP L8} %
i ? b “" ‘

; 5 = ‘r'_' e 1 3

2 | 141 2 | 583 IS 3ﬂ0§€“4hﬂﬂ Ll e

i . .,§ :
3| 1m 3 164 | abuwge [ e
twice @5 b o Ld | =
4 2 4 7 - : g

11) Match the domain and range to the graph.

B. x>4; y>0

R T ST T | B

L

Al !
T h i i
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12.  Special airbags are use
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protect scwo/zﬁ 1c equ1rp?ngnt wlben a rover‘ia s on the surface of Mars. The

function f(x) = x/ 64x approximates an object’s downward velocity, in feet per second, as the object hits
the ground aﬁer bouncmg x feet in height. How( fast would the rover be traveling after a bounce of 70 feet?
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13.  The time T, in seconds, it takes for a pendulum to complete one back and forth swing can be determined by

the formula T = 27 /;L—a, where L is the length of the pendulum in meters. Estimate the length of a
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pendulum that completes one back and forth swing m{2 5 seconds.)- Pewn Dd_ ov Himein sec.
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14.  The speed s, in miles per hour, that a car is traveling when it goes into a skid can be estimated by the

formula, s = ,/30fd where f is the coefficient of friction and d is the length of the skid marks in feet.
A police officer was 1nvest1gat1ﬁg\an accident where the driver claims to have been traveling 45 mph. The
officer measured the skid marks to be @30 feet’and knows that the coefficient of friction for dry roads is

0.71s the driver telling the truth? Justify with mathematics.
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15.  The velocity of an object dropped from a height of ﬂ%cwrb%! glven by the ﬁlﬂCthIl V = \/2gh, where g is J'

the gravitational constant, 32. 2 — If an object is dropped from the roof of a building that 1s I_W}&
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how fast is it travellmg when it hlts the ground?
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Which most accurately describes the graph of the function f(x) = Vx + 2 — :
g(x)=v/x shifted 2 units up and 5 units to the right. ot (-2 oy 5)
g(x)=v/x x shifted 5 units up and 2 units to the right.

g(x)=+/x shifted 2 units down and 5 units to the left.

g(x)=+/x shifted 5 units down and 2 units to the left,
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. The function h(x)=+/x is changed to h(x) = vx — 4 — 3. What effect will this have on the graph of
h(x)=vx?
a. The graph will shift up 4 units and left 3 units.
b. The graph will shift down 4 units and right 3 units.
g, The graph will shift left 4 units and down 3 units.
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The graph of f(x) = +x - 2 is translated 4 units right and 5 units down. Which of these functions
describes the transformed graph? r 0 2 (Cl\l‘ﬁadli 2units dow nj
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b. g)=~x+4-5
c. g(x)=«,‘x—4+5‘ - m ""q
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How does the graph y = JXx change when the function is changed to y = %-& ?
a. The graph is shifted % units up on the x-axis.
b. The graph is shifted 4 units up on the y-axis.
The graph mmpzessed by a factor of -\J

d. The graph is vertically stretched by a factor of i
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a. (-2,5)
c. (2,-5)
d. (-2,-5)
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. What is the domain of ¥ = ~\/'x 29
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What is the domain of the graph of the function shown below:
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What is the vertex of the graph of ¥ = Ax=2+5? What is the vertex of the graph of ¥ = x+5-67

a. (-5,6) (.,5/_(@3
b. (5,6)

c. (5,-6)

What is the range of y = A/x +5+39
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Solve each of the following eqltatmns
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